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- ) -f(xo) _ o . f(xg+h)—f(xq) 8.  f(x)=sin(u) f(x)= cos(u).u'

XILTO xxp o) lim h =Txo) f(x)= cos(u) (%)= —sin(u).u'

L f)-fx0) g . f(xg)—f(xg+h) 9. f(x)=tan(u) f(x)= (1+tan(u)).u' = sec’(u).u’
XIEDO 0—X (xo) L'E(] h = %) f(x)= cot(u) f'(x)=—(1 +cot2(u)).u'=—cosecz(u).uI
. f(xg+ah)-f(xo) _a . F20-f2(xg) 2,0 v |1 10, f(x)= sec(u) f{(x)= sec(u).tan(u).u'

LIL% b.h b (xo) lerQO - = [ (xo)l f(x)= cosec(u) f{(x)= —cosec(u).cot(u).u'
1. f(x)=a (acR) f(x)= 0 o e U
fx)= a.x f(x)= a ! 11.  f(x)= arcsin(u) f(x) o
2. fx)=au" f(x)= a.n.u™".u' % 12. f(x)=arccos(u) | f®)= 1‘“' -
—-u
3. f(x)=f+g fi(x)=f't @' 13. f(x)= arctan(u) | f(x)= u,2
1+u
4. f(x)=f.g f(x)=f.g + f.g' 14. f(x)= arccot(u) | f(x)= 1_L:2
+
5. f(x)= © fx= 1919 15. (fog)(u) (fog) (u)= f(g(w). g'(u).u!
g g f(u)=g(x) f(u).u =g'(x)
_ f= Y 16. f"(u) ()] = n.f""(u).f(u).u'

6. (9= Vu %= % sin"(u) [sin"(u)]' = n.sin ™"(u).cos(u).u
7. fx)= Yu f(x)= i 17. f(x)= (F)(yo)= ! [ Yo=axo+b— x0=? ]
. f(x)= Vu = . f(x)=ax+b Yo x0) Yo=axo+b— =7
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